PE ¢ 100mm ££5+ % NO. 1
& W RAKTiE B | B PE ¢ 100 L=
C| D H = | E K g2 | E K
(# #)
7K AR EFZ0O4+
SEEEr YIFLVE | ¢ 100 x 5000 5.000 43 43
EFZ0O4+
YUEREE 5.000 3 3
it 46 46
EF iy ¢ 100 & — 9 9
EF -2 $100x ¢ 100 1@ | 0.114 2 2
EF -2 $100x ¢50 | & | 0.114
EF 90° A" U} ¢ 100 1@ | 0.446
EF 45° A"y} ¢ 100 18 | 0.375
EF 22 1/2° AUV ¢ 100 1@ | 0.279
EF F590° A" UV ¢ 100 18 | 0.556
EF F545° AUV ¢ 100 18 | 0.485
EF B5222 1/2° AU | 100 18 | 0.389
EF #vy7 ¢ 100 {8 | 0.198 3 3
EF A&7 1-4- $100x ¢ 75 | 18 |0.420
EF A&7 1-4- $100x ¢50 | 18 [0.380
PE#&E L Of+
HBHRNTFE d100x ¢75 | {8 | 0.795 2 2
PEf&E L Of+
1509 EE ¢ 100 18 | 0.355
(EF -2") (¢100x ¢100) | {8 |0.315 3 3
BEER 230. 857
PE#E L Of+
JIN LTI 5 ¢ 100 E | 0.865 5 5
EIEA
RRERF b 25 x| — 1 1
HIEH ¢ 75 x 100L B — 1 1
750V #FEHM ¢ 75 8 2 2
TUHE FE=H=500 8 5 5
ERAE FE=H=500 8 1 1
IBEEY-b m 235.182
TTHIER 235.182




PE ¢ 100mm  (DJL— k) NO. 6
% Fodk~ti&  |Bif | B RE PE ¢ 100 L= 230. 857
EE:S ¥ 2 | E E = = ps
(# #)
KERAmER EF=Z 044 6 1 1 6
=R VIFLVE | ¢ 100 x 5000 5. 000 1 14 9 4 43| 215. 000
EF 04 0.5 25 2.0 2.52.0
NERES 5.000 3.0 3| 12.500
it 46
1T 1 1 1
EF vy ¢ 100 /| — T 1 1 1 9 —
EF -2 $100x ¢100| 1@ | 0.114 11 2| 0.228
EF -2 $100x ¢50 | 8 | 0.114
EF 90° A"V} ¢ 100 18 | 0.446
EF 45° A"y} ¢ 100 & | 0.375
EF 22 1/2° AU ¢ 100 18 | 0.279
EF F$90° A" Vb ¢ 100 {8 | 0.556
EF Fr$45° A" Vb ¢ 100 18 | 0.485
EF F%22 1/2° A" UM[¢100 {8 | 0.389
EF $ty7’ ¢ 100 8 | 0.198 T 1 1 3| 0.594
EF B 2U7 1-4- $100x 75 | 18 |0.420
EF B 2U7 1-4- $100x 50 | 48 |0.380
PE#&E L O 1
BHRNUTFE $100x 75 | 48 | 0.795 11 2| 1.590
PE#&E L O
150 BB ¢ 100 & | 0.355
(EF #-2") (¢100x ¢100) | 1@ |0.315 T 1 1 3| 0.945
EEER 230. 857
PE#&E L O 1
YoMLY 5 ¢ 100 0. 865 1 1 1 1 5| 4.325
EIEA
REERF ¢ 25 — 1 1
wesR @75 x 100L — 1 1
750V #FM ¢ 75 #8 2 2
TUHE FEEH=500 #8 1T 1 1 1 5
LRAE FEEH=500 #8 1 1
HPEEY-+ m 235.182
TIER 235. 182




PE ¢ 100mm NO. 9
% Fodk~ti&  |Bif | B RE
H 2 ES = &
(% #)
fUIFLVERBT ¢ 100 m 230. 8 230.8
T YIFLV BV T ¢ 100 [m] UERLY 4
(EF#F-20) Jryb F-R F-2 45° 22°
NYIFLVEMFT ¢ 100 [m] 9 2 11
(EF#F-10) B 45° %y B A%
N UIFLVEMFT ¢ 100 [m] 46 3 49
130 EBMFL ¢ 15 | 2
HUFRET ¢ 100 = 5
TRIA/ETL ¢ 25 = 1
¢ 100
HOHEL H=0. 50 Elii 5
BOA
TRAEL H=0. 50 Elii 1
27747340 m 235.1 235.1
EBRT-7 T m 235.1 235.1




HAREERE NO. 11
2 ™ FARTE B (BMR BRI PHT5 %65 TH
g A H 8 | E K g7 A % E|E K
(# #)
FIEA
HKEE ¢ 75x 65 & 1
WEHF ¢75x100L | 1
HKREE FE®H=500 i 1
73y #FM 9175 i 2
(% %)
HAREBET ¢ 75x 65 & 1
BOA

HAREET H=0. 50 &R 1




HBKE NO. 12
% Rk~tiE (B BEE PP ¢ 20 10F
7 % = | I =X = | E E
(# #)
KIER 178
& IFLVE ¢ 20 m | L=120m 44.0
PP& K42y b ¢ 20 ‘r 4
F1 V5 IKEE d100x 20 | 7 PPH 4
PP LK ® 20 T 8
r-h-EfE
fH#E KR ¢ 13 s 4
PPEZ S IEKEA G13x p20P | 4 4
PP12 ¢20 7 8
A)-2F ¢ 20 H 4
A)-AFRE H=400 2 4
BOMA
IREEY-b m 40.0
=/KEH v ®13H T 4
(% %)
A YERET $20 m 44.0
T )BT @20 [m] X 4 16
i )EBRFT ®20 [m} 4 x 2 24
SKREAT ¢100x ¢20 | flr| AEPP 4
F-h-fE - ER
SEKEFIAT 13 4 A | BOXE & 4
A)-AFRET @20 H 4
®20
A-AFET H=0. 40 B 4
7747340 m 40.0
HRT-7 T m 40.0




in 7|
NO. 13
PPH PP#tF B | 2K

H5 e A—H— $E VKRR | AY-AFE | BE |SAkEAEYY A2 | IME | BES LR | Bk £ yiR | K VIFLE o
= 0% |p100x 20| @20 165 ¢ 20 $20 | $20 | ¢13x20P 013 | o138 ®20 NiEAs EMRCo ERGr
A $13 1 1 1 1 2 2 1 1 1 2.0 1.0 1.0
B $13 1 1 1 1 2 2 1 1 1 6.0 5.0 1.0

c 1 1 1 1 1 2 2 1 1 1 6.0 5.0 1.0
@@ D 1 1 1 1 1 2 2 1 1 1 30.0 29.0 1.0

E 2 4 4 4 4 8 8 4 4 4 44.0 40.0 1.0 3.0




NO. 14

(&3 BEEER
ko) 2.9 Z.Y] 2.9 Z 1] B & ) B % B
BEES
¢ 100m/m 5.000 3. 000 2.000 1 1
5. 000 2. 000 2. 500 0. 500 1 2
5.000 2.500 1 1 2.500
ik (E‘I‘/ZT) r4°) (E‘I‘/le() 3 4 2. 500
2 4
By (Bt/m) ZY) (§t/m)
5.000 7.500
&t 12.500
EES
@ 50m/m
ik (E‘I‘/ZT) r4°) (E‘I‘/le()
By (Bt/m) ZY) (§t/m)
&t




TTEHEE ¢ 100 NO. 15
€
O £ ¢ 100
Al As
Y H= 0.60
235. 20
3 3 = 3 =
& & & & &
it it it it it
E
E R M 235. 20 m& Y] 235.20 mLy s Y mEy Ly THHE
el 470. 40 2.000 | 470.40 270 4
=" As 5 cm 117. 60 0.500 | 117.60 117.6
) . Co10 cm
BH=0. 35
BH=0. 20 91.73 0. 390 91.73 91.7
K iR BH=0. 10
AR
b hyvay 35.75 0.152 35. 75 35.8
il 23.52 0.100 23. 52 23.5
#H R RC40 35. 28 0. 150 35. 28 35.3
TREEIE 117. 60 0.500 [ 117.60 17176
As 3 cm
RiEI8
% X WigsA | 68. 21 0. 290 68. 21 68.2
mo = AHTEA
S As 5. 88 0. 025 5. 88 5.9
an Co
E E As 5. 88 0. 025 5. 88 5.9
BREY Co
NIBE




TTITHEE Bk NO. 17
(B €) ©) @D
O # @501 ®20 & 20
2 As Co Gr
T#HY H= 0.60 H= 0.30 H= 0.30 H= H=
1.00 1.00
5.00 1.00
i 5.00 | 1.00 iE T iE
£ £ & £ &
it it it it it
29. 00 1.00
B
E E (m) 4400 mZ Y[ 40.00 mZ Y[ 1.00 mZ Y[ 3.00 &y &y B
I i& ¥ = ¥ = = = =
o As20cmEL T m 30. 00 2. 000 80. 00 80. 0
it (P m 200 7000 | 2,00 70
& 4 As 5 cm 2 20. 00 0.500 20. 00 20.0
B i Co 5 cm m 0.30 0.300 | 0.30 0.3
BH=0. 35
BH=0. 20 14. 20 0. 355 14.20 14.2
K iR BH=0. 10 m3
N 0.35 0.075 | 0.08 0.090 | 027 0.3
b hyvay 5.08 0.127 5. 08 5.1
% 435 0.100 4 00 0.075 | 008 0.090 | 0 27 1.3
# R RC40 m? 6. 00 0.150 6. 00 6.0
TEERIE m< || 20.00 0.500 | 20.00 200
As 3 cm 20. 00 0.500 20. 00 20.0
=18 Co bem m? 0.30 0.300 | 0.30 03
% X HmEA | 2 10. 20 0. 255 10.20 10.2
no I ARTEA m
A S As 1.00 0. 025 1.00 1.0
mooIE Co m3 0.02 0.015 | _0.02 0.0
E E As 2 1.00 0. 025 1.00 1.0
BEY Co m 0.02 0.015 | 002 0.0
I




BEEAIE £5t NO. 18
E ARtk Bz —
g BN £
; BIRES
100 75 #k
15 IHEE m2 + + =
SHEYMT As=20cmELF | m
SERRT As=5cm m? | BH=0. 20 + +
TERT m3 137.60 x 0.05 6.88
TERET m? 117.60 + + 20. 00 137. 60
BIMET T m® 6. 88
FRIMET As m®
ERLEE As m?
=BT As=5cm m?’ 117.60 + + 20. 00 137. 60




BESYTTHES

NO. 1
181T
% ™ B PE ¢ 100
= = N = {i& =z
SEUET m |As t=20cmLLF
2.0 x 1.0 2.000
SMERIRTEAT m? |As t=5cm
(m®) 0.50 x 1.0 0. 500
( 0.50 x 0.05 x 1.0 ) 0.025
HHIEE T m° 0.50 x 0.78 x 1.0 0.390
ABEEHLT m? 0.50 x 1.0 0. 500
HERET (L) m° 0.33 x 0.50 = 0.165 m?
i 0165 m?
e ¢ 100 0.013 m?2
0.165 - 0.013 = 0.152
0.152 x  1.00 0. 152
#BET GRA) m° 0.20 x 050 x 1.0 0. 100
BRI (BE)594-5) m° 0.30 x 050 x 1.0 0. 150
BRI GfARA) m°
Bias (1) m° 0.390 - 0.100 0. 290
B0 (Ash' ) m° 0.50 x 0.05 x 1.0 0. 025
i€ I8 m? |ZHIE t=3cm
0.50 x 1.0 0. 500




BESYTTHES

NO. 2
25+
% ™ B PE 75
= = N = {i& =z
SEUET m |As t=20cmLLF
2.0 x 1.0 2.000
SMERIRTEAT m? |As t=5cm
(m®) 0.50 x 1.0 0. 500
( 0.50 x 0.05 x 1.0 ) 0.025
HHIEE T m° 0.50 x 0.94x 1.0 0.470
ABEEHLT m? 0.50 x 1.0 0. 500
HERET (L) m° 0.29 x 0.50 = 0.145 m?
B 0145 m?
e ) 75 0.006 m?2
0.145 - 0.006 = 0.139
0.139 x  1.00 0.139
#BET GRA) m° 0.40 x 050 x 1.0 0. 200
BRI (BE)594-50) m° 0.30 x 050 x 1.0 0. 150
BRI GfARA) m°
Bias (1) m° 0.470 0. 200 0. 270
B0 (Ash' ) m° 0.50 x 0.05 x 1.0 0. 025
i€ I8 m? |ZHIE t=3cm
0.50 x 1.0 0. 500




BESYTTHES

NO. 3
K=
& W Bifsy PE @ 50LLTF
= = N = {i& =z
SEUET m |As t=20cmLLF
2.0 x 1.0 2.000
SMERIRTEAT m? |As t=5cm
(m®) 0.50 x 1.0 0. 500
( 0.50 x 0.05 x 1.0 ) 0.025
HHIEE T m° 0.50 x 0.71 x 1.0 0. 355
ABEEHLT m? 0.50 x 1.0 0. 500
HERET (L) m° 0.26 x 0.50 = 0.130 m?
B 0130 m?
e ) 50 0.003 m?2
0.130 - 0.003 = 0.127
0.127 x  1.00 0.127
#BET GRA) m° 0.20 x 050 x 1.0 0. 100
BRI (BE)594-50) m° 0.30 x 050 x 1.0 0. 150
BRI GfARA) m°
Bias (1) m° 0.355 - 0.100 0. 255
B0 (Ash' ) m° 0.50 x 0.05 x 1.0 0. 025
i€ I8 m? |ZHIE t=3cm
0.50 x 1.0 0. 500




BESYTTHES

45T
& W PE ¢ 100
g EN N =
BV T As  t=20cmLLF
SMERIRTEAT As t=5cm
MRS T 0. 50 0.83 x 1.0 0. 415
AAKRHLT 0.50 1.0 0. 500
BRI () 0.33 0.50 = 0.165
a 0.165
EER 100 0.013 m?’
0.165 0.013 0.152
0.152 1.00 0. 152
HBRET (GRE) 0. 40 0.50 x 1.0 0. 200
BRI (BEI7IY-V) 0.10 0.50 x 1.0 0. 050
BRI ChifARRA)
BRIy (£8) 0. 415 0. 200 0.215

BRIy (Ash'3)

REIB

ZHIE t=3cm




BESYTTHES

bEtT
& W Bifsy K VP15
& = Py
SEUET m |As t=20cmLLF
2.0 x 1.0
SMERIRTEAT m? |As t=5cm
(m®) 0.80 x 1.0 0.
( 0.80 x 0.05 x 1.0 ) 0.
BBIEEI T m® 0.80 x 0.45 x 1.0
AHiEEIT m® 0.80 x 0.59 x 1.0 = 0.472
0.472 - 0.006
ABEEHLT m? 0.80 x 1.0
HERET (L) m° 0.39 x 0.80 = 0.312 m?
i 0312 m?
e ) 75 0.006 m?2
0.312 - 0.006 = 0.306
0.306 x  1.00
#BET GRA) m° 0.40 x 0.8 x 1.0
BRI (BE)9-30) m° 0.30 x 0.80 x 1.0
BRI GfARA) m°
Bius (£8) m° 0.360 + 0.466 - 0. 320
B0 (Ash' ) m° 0.80 x 0.05 x 1.0
i€ I8 m? |ZHIE t=3cm

0.80 x 1.0




BEMYFTTHEE

NO. 6
65t
& W Bifsy #hK (A Co)
= = N = {i& =z
SEUET m |Co t=5cm
2.0 x 1.0 = 2.000
SMERIRTEAT m? |Co t=5cm
(m®) 0.30 x 1.0 = 0. 300
( 0.30 x 0.05 x 1.0 ) = [ C o0015)
HEMIEE T m®
AHiEEIT m® 0.30 x 0.25 x 1.0 = 0.075
AFAERHLT m?
BRI () m°
&t
EER m?
BRI GRA) m° 0.25 x 030 x 1.0 = 0.075
BRI (BEI7IY-V) m°
BRI GRRA) m°
BRIy (£8) m°
Bty (Con' ) m° 0.30 x 0.05 x 1.0 = 0.015




BEMYFTTHEE

NO. 7
1Bt
& W Bifsy #hK (EBA Gr)
= = N = {i& =z
SEUET m
SMERIRTEAT m? |As t=5cm
(m®
MRS T m®
AHiEEIT m® 0.30 x 030 x 1.0 0.09
AFAERHLT m?
BRI () m°
&t
EER m?
BEL GRA) m° 0.30 x 03 x 1.0 0. 090
BRI (BEI7IY-V) m°
BRI GRRA) m°
BRIy (£8) m°
BE0s (Ash 3) m®




